Invariant Mass plots from the Latest Production:
The location of the root file: /star/institutions/ksu/bouchet/APS/script/analyse/FULL_0213_APS_part1.root
The QA Plots can be found here
Total Number of Events Processed: ~ 5.5M

Some Cut reference studies I used from Jonathan page posted here: http://www.star.bnl.gov/~bouchet/TCFIT/studies/test.html#testse1.html
The Default cuts are : 
Event Level:

|ZVertex| < 10

SigmaZVertex < 200microns

Trigger ids : 200001, 200003, 200013

Track Level:

|eta| < 1
pT>0.5

p>0.5

TpcHits ≥ 20

SiHits>2

dEdxTrackLength >40

|slength_tcfit|<0.1

Prob_tcfit>0.1

|nSigma_K|<2 , |nSigma_Pi|<2

|dcaXY_k,pi| < 1000microns

chargeK*chargePi<0
Following are the invariant Mass plots with various cuts as mentioned above each plot. 
1. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0
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2. Number of Tracks Cut

a. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0, #ofTracks<200
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b. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0, #ofTracks<100
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3. Cut on Signed decay Length from TCFit

a. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0, #ofTracks<100, |slength_tcfit|<0.05
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b. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0, #ofTracks<100, |slength_tcfit|<0.06
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c. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0, #ofTracks<100, |slength_tcfit|>0.025
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	Slength_tcfit
	S/N

	< 600 μm
	2.3744

	< 500 μm
	2.4438

	>250μm
	No Signal


4. Cutting on the error of slength (dslength_tcfit), Cutting on the Probability of TCFit

a. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0, #ofTracks<100, |dslength_tcfit|<0.03
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b. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0, #ofTracks<100, |slength_tcfit|<0.05,|dslength_tcfit|<0.03
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BRTW fit on the above plot:
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c. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0, #ofTracks<100, |slength_tcfit|<0.05,prob_tcfit>0.2
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d. |cos(θ*)|<0.6, |EtaD0|<1.85, chargeK<0, chargePi>0, #ofTracks<100,abs(slength_tcfit/dslength_tcfit)>2
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The cut abs(slength_tcfit/dslength_tcfit)>2 alone also gives No Signal.
5. Cutting on the Dca between the daughters in the Transverse and Longitudinal planes.
a. abs(angle)<0.6&&chargeK<0&&chargePi>0&&abs(eta)<1.85&&flag<100&&trackXYT<0.02
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b. abs(angle)<0.6&&chargeK<0&&chargePi>0&&abs(eta)<1.85&&flag<100&&trackZT<0.03
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c. abs(angle)<0.6&&chargeK<0&&chargePi>0&&abs(eta)<1.85&&flag<100&&abs(trackZT)<0.04&&trackXYT<0.04
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	trackDcaXY
	S/N

	< 200 μm
	1.5598

	< 300 μm
	1.7196

	< 400 μm
	2.081

	< 500 μm
	1.7426


	trackDcaZ
	S/N

	< 300 μm
	2.2086

	< 400 μm
	2.1915

	< 500 μm
	1.694


6. Combining cuts on decayLength and Dca beween the daughter tracks
7. abs(angle)<0.6&&chargeK<0&&chargePi>0&&abs(eta)<1.85&&flag<100&&abs(trackZT)<0.03&&trackXYT<0.04&&abs(slength_tcfit)<0.06
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8. abs(angle)<0.6&&chargeK<0&&chargePi>0&&abs(eta)<1.85&&flag<100&&abs(trackZT)<0.03&&trackXYT<0.04&&abs(slength_tcfit)<0.06&&dslength_tcfit<0.02
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There is a signal appearing at the D0Mass and it is consistent with various cuts. 
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A Fit with the BRTW function gives S/N ~ 2.3744





Fitted with the BRTW Function
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S/N ~ 2.2257
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